2X3%x3x%5

2XHXHXT

"

350

D5, HagEia

"

3150

BUREESE

T OEA
il

N

@) A

2X3%x3x5x5HxX7=23150

HFHS




2.

i

1000 Y9l =4S +1000 Yolzt & o, 300 Y] A&& +, - F=&
A5 A LHERY o] Hotat,
» A
> ®e -3004
AT} A EL A2 H o] Y|, YU + EEE Ao
D &L - L& 2835t




oy

T

H

o .

b M

i :

5

W o SIS m.m

ol [y 3 .

i 3 s :

lan 5 ’

u . & .

= n i T

= ! T T . i

= o5 N o CU = __

i + ~ T EZs "

<+ ; L S |

= P~ =

- , G ~ 4 i

X i I T ©

S N R A T .

olp 0 | gp 90 W OR o %

o | ” O o
© o @ @ ©

3.



I

.k

S !

]

El

A~
¥

[¢]
[e)

3N

= o2 Lk o,

=T
o Azt

ZF

24 glo] LrERR Aol

OFO A

~0

N

-

ul

m
oo

e

ul




D0 @ -1 ® +1 @ -2

obd AL 2.40]t},




op

RS

o]

A
0

i
k

iz

e Q1o Y At 2 ALt

7}

A

d]
=

g

O]




oh B7] o AWES A, WA, B4, Aol EgAE
7

Aol wet SHraA| et A Zotet,

@®o.6..6 066,60 606,660
® 6,068 66000




8. the F BAE ASY Ao] 84 e

@ o) zpel, 4Jo] 2pe, A A9 A7 242 a, b, ¢ A 5
100a + 10b + ¢
@) =420 Zol7t x em 9 AL AR ] Bylo]

! 6xcm?

® 4717 p 99 AFEHE 25 % LIsto] TRk

30
2p g
417

@ xxxX6 = 6x>(cm?)




9.

1 7Roll 200 9#2] Atat g O] 71AE x,+ HEE A
Lrebd 2127

@D 200 +a @ 200-a ®)200a
a 200
© 200 ©

sk BApe] FolH 48 B2 o) ek,




10.

S 7ol a 9 5H= At 3 Aot @ Aol b 9 sk B 2 A AR 1000
AL W wo] ALSES vh2A ek A7

= Tl .

@ (3a+ 2b-1000) ¥ @ (1000 -a-b) ¥
® (1000 + 3a +2b) ¥ @ 1000 - (2a + 3b) ¥

O

() (1000 - 3a - 2b) ¥

(A2EE) = 1000 - (3a + 2b) ¥




_%y o} SR ol W EA7 23 A7} Zotof @t
@ -y » A9 EA7 mE tadt,

@ 8x%y? = A7} e

@ 5y° = BAH9} 447} BF e

® % = A ZA 4471 vhae,




12. o& 57] 5 -2x o &2 A2 2% =2t
H7
@ -2xx © -2+x
© (-1)x2xx @ -1+42+4x

@ -2xx=-2x
©-2+x

© (-1)X2xx=—-2x
@®-1+2+x=x+1




13. OS<E7|>oA 548 BF 1212

O 3x+2=2x+3 © 2(x+3)=6+2x
© 2x+3x+4=5x+4 ® 3(x-1)=3x-1

vae @Qoe 066 066 600

O6+2x=2x+6
©b5x+4=>5x+4




14. tee 44 RR 6}04 Urekd Zelt}, thg 1] F @)

o] %2 Fotel

ou §(3H2d5)
A 2=

o1
‘ITEq—l_‘|: 94 X

of sigst=

7]
7 32
-7 -183 - 5 =
To-18 o 4155 o
» (=13 7_H
> =t 3 A
@2 7t obd frejselt,
-7 (B4), -1.83 (357} obd fr2l%),
7
g A7k ord frel),
2
1155 (347 obd gela), 2 =8 (34

et H47} obd 2l4] g 37 ol




15. -2 701 Aolol S RE 452 7j5E FopH?

@ 174 @ 271 ® 371 @ 47 ©)

-2 =2l onm
7 7 ¢!

2
-2 3k 21 Aole] Y B4E

-2,-1,0,1,29 57}




16. o2 IHAA 4ol A wef Y
o| RE L2 A B 9 Zhe Adt

Qi
olwl, A B o gLe Fatolet. (8) (4
> &
> &g 1
AZrg o] Pwol 9 0] ghe
0+ 7+ (-13)+15=9°]1
A7 e] 2% We) gL g olng
A+(-4)+(-8)+15=9 L A=6
A7 o] P& Ho gr2 g olng
6+8+B+0=9 - B=-5
“A-B=6-(-5)=11




2o




18.

FETEx% ) e

Noz tenyolet.
> E.
[> HED 3xg

= 300g £oll 5 e 259

loa




@ 3x O] A4 3 ol

6x2, 3x, —1 °o|th

O _
—

3}

0]

@ 3x 9 %= 1 ]},




SA2(x+1)-4=ax+b7tx o T FAHL 0, a+b 9] F2?

®-1  @o

®1

@ -2

® 2

2x+1)-4=ax+b 7}
x ot F5Aolm
2x+2-4=ax+b
2x—-2=ax+b

a=2, b=-
Ta+b=2-2=0




ro=Se a7 (1) - p-a) o gre 2o
f(x) = sx °IA]
N 3 4
7(3)-3x3-2
f(-4) =




© -8 @ -7

O

@ 3

® -3




23. F &5 f(x) = §+ 2, g(x) = §+ L ol thiste] 2f(6) ~ 3g(4) ©]
qhe




24.

y=ax(a#0)°l (-2,4) € HYsIH
o
a=-9




oA AFEy = f(x) o E2 YEEY

yl\

A =0 =R

— R R




